[ normalized x? probability |

Entries
Mean
td Dev

Entries
Mean
- |.Std Dev.

Entries 9984
Mean 0.9385
Std Dev. 0.2558

Entries
Mean

Ratio

'y Sidd
R
.1$” h ﬂll
I SR O T I S U T ,;ln|||“‘ E
02 46 8 10 12 14 16 18 20 "0 0.10.2 0.3 0.4

7p|xelCP‘ETemp1_e s&e(gZ plltolOOD e|a1p4mlp6

“pixelCPETemplateCutChiSquarel0_sfep2__pt1to1000_etalp4tolp6
_pixelCPETemplateCutChiSquarel5_step2__pt1to1000_etalp4tolp6
_pixelCPETemplateCutChiSquare20_step2__pt1to1000_etalp4tolp6

ElerCPETemEIa eCutChiSquare30_step2pt1to1000_etalp4to1p6

i

oooood

>

< X2/ ndf >
-
©
TT

=
2}
T

<op./p. > )

=
i
T

Ratio
Ratio

-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
n TP n (PCA to beamline)

=

@
T
-

16

< X2/ ndf >
< X2/ ndf >
=
00

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

1 -1
AR(track, jet?

<o pTIpT > (Yo)

Ratio




	Contents
	Page 1


